Notes 10-6
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Show how to find each measure.
a.mZQPS

b. m/BCD
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Show how to find each measure.
A.mJLK

a. mZRQS if mQTS = 238
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Theorem 10.14

Fill in the blanks.

Words If two secants, a secant and a tangent, or two tangents intersect in
the exterior of a circle, then the measure of the angle formed is one

half the of the measures of the intercepted arcs.
Examples
D D £
B B
A A
C 2 D
E c c
Two Secants Secant-Tangent Two Tangents
mZA = mZA = mZA =
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Show how to find each measure.
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Show how to find each measure.
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Show how to find the value of x.
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Circle and Angle Relationships
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A ramp is attached to the first of several
barrels that have been strapped together
for a circus motorcycle stunt as shown.

What is the measure of the angle the
ramp makes with the ground?





image1.png
Vocabulary

secant n. any line that intersects a circle at exactly two points

¢ \
D
CD is a secant of @P.
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Theorem 10.12

Fill in the blanks.

Words If two secants or chords intersect in the interior of a circle,
then the measure of an angle formed is one half the of
the measure of the arcs intercepted by the angle and its vertical
angle.

Example mZl = and

mZ£2 =
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Show how to find x.
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Show how to find x.
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Show how to find x.
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Theorem 10.13

Fill in the blanks.

Words  If a secant and a tangent intersect at the point of ,
then the measure of each angle formed is one half the measure
of its intercepted arc.

Example m/I| = and
mZ2 = C




